SR8000

1
SR8000

SR8000 Vol.1, No.3 1999
SR8000 Vol.1, No.4 1999
SR8000 Vol.2, No.1 2000
SR8000 Vol.2, No.2 2000

SR8000

SR8000
2 SR8000
>

€9) /

(2 ( )-log

(©))

C)) /
/

/

(5) / DO /

(6) /

)

©))

€)) /



(10)

11
(12)
(13)

14

SR8000

G) a3

2-1

2-1




sub5.

3-1 sample.f 5

T 3-2 3-6

SUB1 SUB2 SUB3 SUB4 SUBS

subl.f sub2.f sub3.f sub4.f

(8]

PROGRAM MAIN

PARAMETER (NN=10000000)

PARAMETER (NN2=3)

IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN),L(NN)
DIMENSION D(NN2)

WRITE(6,*) "Test start”

DO 5 1=1,60
CALL SUBLI(NN,A,B,L,D)
CALL SUB2(NN,A,B,C,L)
CALL SUB3(NN,A,B,C,L)
CALL SUB4(NN,A,B,C,D,NN2)
CALL SUB5(D,NN2,S)
WRITE(6,*) I,"Sum=",S

CONTINUE

WRITE(6,*) "Test end”

STOP

END

3-1 sample.f

10

SUBROUTINE SUBL(NN,A,B,L,NC)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),L(NN)
DO 10 1=1,NN
L(D=I
A(1)=DBLE(NC)*DBLE(1)*1.0D-4
B(1)=EXP(A(1)*1.0D-5)
CONTINUE
RETURN
END

3-2 subl.f

30
20

40

SUBROUTINE SUB2(NN,A,B,C,L)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN),L(NN)
DO 20 J=1,NN/500-1
C(J)=0.0D0
DO 30 1=1,L(J)
C()=CI)+A(1)+B(I)
CONTINUE
CONTINUE

DO 40 J=NN/500,NN
C(D=A)+BQ)

CONTINUE

RETURN

END

3-3 sub2.f



SUBROUTINE SUB3(NN,A,B,C,L)
DIMENSION A(NN),B(NN),C(NN),L(NN)
DO 50 1=1,NN
B(L(1))=C(N)+A(I)
50 CONTINUE
RETURN
END

3-4 sub3.f

SUBROUTINE SUB4(NN,A,B,C,D,NN2)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN)
DIMENSION D(NN2)
DO 60 J=1,NN2
D(J)=0.0D0
DO 70 1=1,NN
D(I=D(I)+I*(C(N+A(D+B(I))
70 CONTINUE
60 CONTINUE
RETURN

END

3-5 sub4.f

SUBROUTINE SUB5(D,NN2,S)
IMPLICIT REAL*8 (A-H,0-2)
DIMENSION D(NN2)
$=0.0D0
DO 80 1=1,NN2
S=S+D(1)
80 CONTINUE
RETURN
END

3-6 sub5.f

-pmfunc DO
-loglist
4-1

Prompt> f77 -0ss -procnum=8 —-loglist -c sample.f -pmfunc
Prompt> f77 -0ss -procnum=8 -loglist -c subl.f -pmfunc
Prompt> f77 -0ss -procnum=8 —-loglist -c sub2.f -pmfunc
Prompt> f77 -0ss -procnum=8 -loglist -c sub3.f -pmfunc
Prompt> f77 -0ss -procnum=8 -loglist -c subd.f -pmfunc
Prompt> f77 -0ss -procnum=8 -loglist -c sub5.f -pmfunc

4-1

sample.log subl.log .. subb5.log




-0Oss

-pmfunc

-parallel

4-2

| Prompt> f77 sample.o subl.o sub2.o0 sub3.0 sub4.o sub5.0 -pmfunc -parallel -o sample

4-2

pm_sample_Jun08_1600_node000_174889

pm_ _ _ _node

(pmpr)

pm_sample_Jun08_1600_node000_174889:

B R R R

## ##

B R R R
: 2000 06 08 ( )16 00 33

0
1 174889
: sample
CPU 1 39.210296[ ]
MFLOPS 1 1316.379
MIPS 1 2496.630
2
1 62
: 108[ 1
2660[ 1
FLOP Inst LD/ST
1PO 5852M  14345M>  6545M>
1P1 6002M  11728M 4510M
1P2 6752M  12994M 4932M
1P3 5102M<  9235M<  3329M<
1P4 5852M  10500M 3751M
IP5 6602M  11766M 4172M
1P6 7352M  13032M 4594M
1P7 8100M> 14293M 5015M

51616M  97894M  36847M

HHRHHRH R R R
H# H#
HHRHHH R

CPU %] ( + )
[ 1]  13.813[35.23] 60 SUB2(sub2.f+5)
[ 21 11.160[28.46] 60 SUB1(subl.f+5)
[ 3] 7.420[18.92] 60 SUB4(sub4.f+6)
[ 4] 6.807[17.36] 60 SUB3(sub3.f+4)

Prompt> pmpr pm_sample_Jun08_1600_node000_174889




[ 5] 0.010895[ 0.03] 1 MAIN(sample.f+8)
[ 6] 0.000313[ 0.00] 60 SUB5(sub5.f+4)
39.210[100.00]
4-3
4-3 SUB1 SUB2 SUB3
MAIN SUB5 1%
SUB1 SUB2 SUB3 SUB4
@
&)
5
5.1 SUB2
SUB2 35.23[%]
/
sub2.log DO

5-1

SuB4

**

**

**

**

**x

**%

**%

**%

**%

**

**

**

**

**

SUBROUTINE SUB2(NN,A,B,C,L)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN),L(NN)

: _parallel_func_1 SUB2

I : TLOCAL
DO 20 J=1,NN/500-1
C(J)=0.0D0

[0 30]
(G

DO 30 I=1,L(J)
C(I)=C(I)+A(DH+B(D)
30 CONTINUE
20 CONTINUE




** DO 40]
** (8 )

**

**
DO 40 J=NN/500,NN
C(D)=A)+BQ)
40 CONTINUE

RETURN
END

SuB2 2

SUB2
-pmp

5-1

D020 D040

ar

sub2.log

HHR R R R R R

H#

H#

HHRH R R R

CPU U] M

13.814[35.36]

FLOPS MIPS

60 SUB2[1](sub2.f+5)

[ 1] [ IC + ) 1 SUB2[1](sub2.f+5)
CPU FLOP Inst  LD/ST  MFLOPS MIPS
IPO 13.814>  452l<  863M<  338M<  32.739<  62.458< 60>
IP1 13.812 12024 2128M 760M  87.044 154.101 60>
P2 13.799  1952M  3394M  1182M 141.477 245.963 60>
IP3 13.791  2702M  4660M  1604M 195.946 337.884 60>
IP4 13.777 34520 5925M  2026M  250.578  430.082 60>
IP5 13.748<  4202M  719IM  2447M 305.671 523.067 60>
IP6 13.770 4952  8457M  2869M  359.636  614.122 60>
IP7 13.763  5700M> 9718M>  3290M> 414.158> 706.131> 60>
110.273  24616M 42336M  14515M 1781.965 3064.768 480
0 )/( * )
cPU : 99.79[%] = 110.273/(13.813742*8)
FLOP : 53.98[%] = 24615599160/ (5699848740*8)

5-2

(SUB2)




5-2 FLOP

FLOP  : 53.98[%] = 24616M/(5700M*8)
50% SUB2 IP
/
SuB2 2 D020 D030 D030 L(J)
D020 J L SUB1 3-2
L(D)=I
D020 D020 =NN/500-1 19999
MAIN NN=10000000 IP D020
D030 5-1
5-1 IP D020 D030
1P D020 J D030 LQ)
0 1 L(D)=1
0 2 L(D)=2
0 3 L(3)=3
0
0 2500 L(2500)=2500
1 2501 L(2501)=2501
1 2502 L(2502)=2502
7 19998 L(19998)=19998
7 19999(=NN/500-1) L(19999)=19999
5-1 1PO D030 1P7
IP
5-2 IP
5-2 IP
1P D020 J D030 LQ)
0 1 L(D=1
1 2 L(D)=2
2 3 L(3)=3
3 2500 L(2500)=2500
2501 L(2501)=2501
5 2502 L(2502)=2502
5 19998 L(19998)=19998
6 19999(=NN/500-1) L(19999)=19999




*poption cyclic

sub2.f

SUBROUTINE SUB2(NN,A,B,C,L)
IMPLICIT REAL*8 (A-H,0-2)

DIMENSION A(NN),B(NN),C(NN),L(NN)

*poption cyclic

**

*x : _parallel_func_1 SUB2
**
** I : TLOCAL
DO 20 J=1,NN/500-1
C(J3)=0.0D0
*%*
wx [DO 30]
*%* (8
**
**
DO 30 1=1,L(J)
C(I)=CI)+A(1)+B(I)

30 CONTINUE

20 CONTINUE
c
**
**
** ___ _—
**
**
i [DO 40]
= @)

**x

**k
DO 40 J=NN/500,NN
C(D=A)+BA)

40 CONTINUE
RETURN
END
5-3 sub2.log
D020
DO IP

*poption cyclic




HHR R R R R R

HH#

HH#

HHR R R R R R

CPU  [%] MFLOPS MIPS [ 1C ¥ )
[ 1] 7.366[22.57] 3341.698 5747.325 60 SUB2[3](sub2.f+6)
7.366[22.57]
[ 1] [ 1 + ) : SUB2[3](sub2.f+6)
CPU FLOP Inst  LD/ST  MFLOPS MIPS
1PO 7.366> 3076M  5200M  1814M 417.610< 718.187< 60>
IP1 7.361  3077M  5201M  1814M 417.937 718.781 60>
IP2 7.357  3077M  5202M  1814M  418.227  719.310 60>
IP3 7.364  3077M  5293M  1815M 417.873  718.734 60>
IP4 7.363  3077M  5293M  1815M 417.981  718.950 60>
IP5 7.337<  3078M  5204M  1815M  419.488> 721.574> 60>
IP6 7.365  3078M> 5205M>  1816M> 417.907  718.887 60>
1P7 7.359  3076M<  5288M<  1813M< 417.993  718.609 60>
58.871 24616M 42336M  14515M 3341.698 5747.325 480
)/ * )
cPU 99.90[%] = 58.871/(7.366195*8)
FLOP 99.97[%] = 24615599160/ (3078000060*8)
5-4 (SUB2)
5-4  FLOP
FLOP 1 99.97[%] = 24616M/(3079M*8)
100% SUB2 1P

HEHH R

H#

H#

HEHH

[ 11  11.018[33.78] 60 SUB1(subl.f+5)
[ 2] 7.419[22.75] 60 SUB4(sub4.f+6)




[ 3] 7.356[22.55] 60 SUB2(sub2.f+6)
[ 4] 6.807[20.87] 60 SUB3(sub3.f+4)
[ 5] 0.014418[ 0.04] 1 MAIN(sample.f+8)
[ 6] 0.000315[ 0.00] 60 SUB5(sub5.f+4)
32.614[100.00]
5-5
5-3 SUB2
[sec] [sec]
SUB2 13.813 7.356
5-3 *poption cyclic
50%
5.2 SUB1
/
subl.log DO
SUBROUTINE SUB1(NN,A,B,L,NC)
IMPLICIT REAL*8 (A-H,0-2)
DIMENSION A(NN),B(NN),L(NN)
** : _parallel_func_1_SUB1
xx [DO 10]
XX
DO 10 I=1,NN
L(D=I
A(1)=DBLE(NC)*DBLE(1)*1.0D-4
B(1)=EXP(A(1)*1.0D-5)
10 CONTINUE
RETURN
END
5-6 subl.log
SUB1 D010
A
/
EXP EXP LOG SIN COS

D010




EXP A(1)*1.0D-5

*voption pvfunc(2)
-pvfunc=2 subl.f

subl.f

SUBROUTINE SUBL(NN,A,B,L,NC)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),L(NN)

*voption pvfunc(2)

**

** : _parallel_func_1 SUB1
**
**
**
folad [DO 10]
folad (_hf_pvdexp)
** (2 )
XX
**

DO 10 I=1,NN

L(D=I

A(1)=DBLE(NC)*DBLE(1)*1.0D-4
B(1)=EXP(A(1)*1.0D-5)
10 CONTINUE
RETURN
END

5-7

_hf_pvdexp
subl.f

subl.log

B R T T R R R T R T R R R R
fizd fizd
R R R R R T R

CPU %] ( + )
[ 1] 7.460[29.57] 60 SUB2(sub2.f+6)
[ 2] 7.442[29.49] 60 SUB4(sub4.f+6)
[ 3] 6.806[26.98] 60 SUB3(sub3.f+4)
[ 4] 3.515[13.93] 60 SUBL(subl.f+6)
[ 5] 0.007728[ 0.03] 1 MAIN(sample.f+8)




[ 6] 0.000351[ 0.00]

25.232[100.00]

60 SUB5(sub5.f+4)

5-8 (SUB1)
5-4 SUB1
[sec] [sec]
SuB1 11.160 3.515
5-4 *voption pvfunc(2)
30%
SUB1
-pmpar
B R
#H #H
B R
CPU %] MFLOPS MIPS [ 1C + )

3.489[13.90]

60 SUB1[4](subl.f+6)

[ 1] [ 1C + ) : SUBL[4](subl.f+6)
CPU FLOP Inst  LD/ST  MFLOPS MIPS
1PO 3.486  2250M> 2725M>  669M> 645.530  781.782 60>
IP1 3.480>  2250M>  2725M>  66OM> 644.942< 781.071< 60>
IP2 3.475  2250M> 2725M>  669M> 647.534  784.210 60>
IP3 3.486  2250M> 2725M>  669M> 645.538  781.791 60>
IP4 3.483  2250M> 2725M>  669M> 646.110 782.484 60>
IP5 3.487  2250M> 2725M>  66OM> 645.287  781.487 60>
IP6 3.474<  2250M> 2725M>  669M> 647.768> 784.493> 60>
IP7 3.487  2250M> 2725M>  669M> 645.380  781.601 60>
27.866  18002M 2180IM  5352M 5159.540 6248.566 480
)/ )
CPU . 99.83[%] = 27.866/(3.488974*8)
FLOP = 100.00[%] = 18001502400/(2250187800*8)
5-9 (SUB1)

5-9 FLOP




FLOP  : 100.00[%] = 18002M/(2250M*8)

100% SUB1 IP
/
1P
5.3 SuUB4
/
sub4.log DO
5-10
SUBROUTINE SUB4(NN,A,B,C,D,NN2)
IMPLICIT REAL*8 (A-H,0-2)
DIMENSION A(NN),B(NN),C(NN)
DIMENSION D(NN2)
** : _parallel_func_1 SUB4
i I - TLOCAL
wx [DO 60]
**% (8 )
DO 60 J=1,NN2
D(J)=0.0D0
**  [DO 70]
** (2 )
DO 70 I=1,NN
D(I)=D(I)+I*(C(H+A(1)+B(1))
70 CONTINUE
60 CONTINUE
RETURN
END
5-10 sub4.log
SUB4 D070

SuB4




-pmpar

HHR R R R R R

HH#

HH#

HHR R R R R

CPU %] MFLOPS MIPS [ 1C + )
[ 1] 7.419[28.15] 970.486 2031.965 60 SUB4[1](sub4.f+6)
7.419[28.15]
[ 1 [ 1C + ) : SUB4[1](sub4.f+6)
CPU FLOP Inst LD/ST MFLOPS MIPS
1PO 7.418 2400M>  5025M>  2025M> 323.522> 677.375> 60>
1P1 7.419>  2400M>  5025M>  2025M> 323.495 677.320 60>
1P2 7.419 2400M>  5025M>  2025M> 323.512 677.354 60>
I1P3 0.000 oM< 0.0M< 0.0M< 0.000<  56.233 60>
1P4 0.000 oM< 0.0M< 0.0M< 0.000<  52.747< 60>
IP5 0.000 oM< 0.0M< 0.0M< 0.000<  57.024 60>
1P6 0.000 oM< 0.0M< 0.0M< 0.000<  53.146 60>
1P7 0.000< OM< 0.0M< 0.0M< 0.000<  57.665 60>
22.257 7200M  15075M 6075M  970.486 2031.965 480
0 )/ * )
CPU 1 37.50[%] = 22.257/(7.418960*8)
FLOP : 37.50[%] = 7200000360/ (2400000120*8)
5-11 (SUB4)
5-11 FLOP
FLOP : 37.5[%] = 7200M/(2400M*8)
37.5% SUB4 IP
IPO IP1 IP2
/
sub4.log 5-10 D060
D060 NN2 MAIN NN2=3
D060 3 IP
IP
D060 *poption




noparallel

sub4.f

SUBROUTINE SUB4(NN, A, B,C,D,NN2)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN)
DIMENSION D(NN2)

*poption noparallel

**

** : _parallel_func_1 SUB4
XX
**
* @)
**%
DO 60 J=1,NN2

D(J)=0.0D0
**
**
** D (sumy
** ___ —_—
** ___ —_—
**
**
o [DO 70]
= @)
**
**

DO 70 I=1,NN

D(D=D(N+I*(C(N+A)+B(I))
70 CONTINUE

60 CONTINUE
RETURN
END
5-12 sub4.log
D060 D070
R
#it #it
B R R R
CPU %] MFLOPS MIPS [ 1C + )

60 SUBA[4](sub4.f+7)




1.642[ 8.48]

[ 1] [ 1C + ) : SUBA4[4](sub4.F+7)
CPU FLOP Inst  LD/ST  MFLOPS MIPS
IPO 1.641  900M> 1111M>  380M> 548.306 676.832 60>
IP1 1.642  900M< 1111M<  380M< 548.250 676.761 60>
IP2 1.641<  900M< 111IM<  380M< 548.446> 677.003> 60>
IP3 1.642  900M< 1111M<  380M< 548.117  676.596 60>
IP4 1.641  900M< 1111M<  380M< 548.408 676.955 60>
IP5 1.642  900M< 1111M<  380M< 548.245 676.755 60>
IP6 1.642>  900M< 111IM<  380M< 548.016< 676.472< 60>
IP7 1.642  900M< 1111M<  380M< 548.263 676.777 60>
13.133  7200M  8888M  3038M 4384.130 5411.781 480
)/ * )
CPU © 99.96[%] = 13.133/(1.642292*8)
FLOP  : 100.00[%] = 7200023040/(900004140*8)
5-13 (SUB4)
5-13  FLOP
FLOP  : 100.00[%] = 7200M/( 900M*8)
100% SUB2 IP

B A R A R R R R R R R R R

fizd

fizd

B R T R R T R T R R R R

1] 7.382[38.13]
2] 6.807[35.16]
3.517[18.17]
4] 1.642[ 8.48]
5] 0.010107[ 0.05]
6] 0.000321[ 0.00]

19.359[100.00]

60 SUB2(sub2.f+6)
60 SUB3(sub3.f+4)
60 SUB1(subl.f+6)
60 SUB4(sub4.f+7)

1 MAIN(sample.f+8)
60 SUB5(sub5.f+4)

5-14

(SUB4)

5-5 SuB4

[sec]

[sec]

SuB4

7.420

1.642




5-5 *poption noparallel

25%
5.4 SUB3
/
sub3. log DO
SUBROUTINE SUB3(NN,A,B,C,L)
DIMENSION A(NN),B(NN),C(NN),L(NN)
XX
** B
*x [DO 50]
** (4 )
DO 50 I=1,NN
B(L(1))=C()+A(I)
50 CONTINUE
RETURN
END
5-15 sub3.log
SUB3 D050
/
B: B
B L SUB1 3-2 L(D=I
B *poption
indep(b)
sub3.f

-pmpar




SUBROUTINE SUB3(NN,A,B,C,L)
DIMENSION A(NN),B(NN),C(NN),L(NN)

*poption indep(b)

**

** : _parallel_func_1 SUB3
**
**
**
o [DO 50]
* “)
**%
**
DO 50 I=1,NN
B(L(D))=C()+A(I)
50 CONTINUE
RETURN
END
5-16 sub3.log
D050
B A T R T T TR R
#i #i#
R A R R R R R R
CPU %] MFLOPS MIPS [ 1IC +
[ 1] 0.855274[ 5.84] 701.530 4538.117 60 SUB3[4](sub3.f+5)
0.855274[ 5.84]
[ 1] [ 1C + ) : SUB3[4](sub3.f+5)
CPU FLOP Inst LD/ST MFLOPS MIPS
1PO 0.855  75000k> 485M> 307M> 87.747 567.625 60>
1P1 0.855> 75000k> 485M> 307M>  87.691< 567.265< 60>
1P2 0.855  75000k> 485M> 307M> 87.754 567.673 60>
1P3 0.855  75000k> 485M> 307M> 87.705 567.353 60>
1P4 0.855< 75000k> 485M> 307M>  87.761> 567.718> 60>
1P5 0.855  75000k> 485M> 307M> 87.701 567.327 60>
1P6 0.855  75000k> 485M> 307M> 87.759 567.704 60>
1P7 0.855  75000k> 485M> 307M> 87.710 567.388 60>
6.839 600000k 3881M 2456M  701.530 4538.117 480




O/ * )

CPU : 99.96[%] =  6.839/(0.855274*8)
FLOP = 100.00[%] = 600000000/ (75000000*8)
5-17 (SUB3)
5-17  FLOP
FLOP  : 100.00[%] = 600M/( 75M*8)
100% suB4 IP

HHR R R R R R
HH# HH#
HHR R R R

CPU  [%] ( + )
[ 1] 7.362[50.28] 60 SUB2(sub2.f+6)
[ 2] 4.768[32.56] 60 SUBL(subl.f+6)
[ 3] 1.641[11.21] 60 SUB4(sub4.f+7)
[ 4] 0.857531[ 5.86] 60 SUB3(sub3.f+5)
[ 5] 0.013243[ 0.09] 1 MAIN(sample.f+8)
[ 6] 0.000337[ 0.00] 60 SUB5(sub5.f+4)
14.642[100.00]
5-18 (SUB3)
5-6 SUB3
[sec] [sec]
SUB3 6.807 0.858
5-6 *poption indep(b)
15%
6

6-1 40%




6-1

[sec] [sec]

MAIN 0.010895 0.013243
SuB1l 11.160 4.768
SUB2 13.813 7.362

SUB3 6.807 0.857531
SUB4 7.420 1.641

SUB5 0.000313 0.000337
39.210 14.642

SR8000




